[}
Cleanness by Purpose Bll@k

3 [HARA

\l) SCIENCE

top
Valve

ANy TNV T

IHARA SCIENCE CORPORATION



458 Features

24.5MPaZ COFERAEAICKE U TGENE T
=i&HA (VH) »5{EA (VC) £ THEL XY,
ZEDERUAODCERICEU TERIELE T,

316 STAINLESS STEEL BODY STANDARD
PRESSURE TO 24.5 MPa
WIDE TEMPERATURE RANGE —196~230C

CHOICE OF STEM DESIGNS (FOR VB VALVE SERIES)
STRIGHT AND ANGLE PATERN
100% FACTORY TESTED

A by FINILT 1) — X' Stop Valve series

INIVT eEREN AR ERAXEYH X
Valve Max. working Working Type & size of end Connections
series Pressure MP "a" Temp. rangeC BI-LOK Pipe Thread Socket Weld
VBM 6.9 @38C —30~120 1/4" — —
"VB k" 20.5 @38C —10~(120)230 1/8"~3/4", $ 6~12 1/8~1/2 —
VN 245 @38C —10~230 1/8"~1/2", ¢ 6~12 1/8~1/2 1/4~1/2
VNN 245 @38C —10~150 1/8"~1/2",  6~12 1/8~1/2 1/4~1/2
VE 6.9 @38C —10~100 - 1/4~1/2 —
VET 1 @38C —10~100 — 1/4~3/8 —
VQ 29 @38C —10~100 1/4"~3/8" 1/4~3/8 —
VH 245 @38C —10~400 1/4"~1/2" 1/4~1/2 1/4~1/2
$6~12 $6~12 $6~12
VC 10.3 @38C —196~120 - 1/8~1/2 1/8~1/2
¥VBY Y —ZDNNVTIE, AT ABROESCIZEY, NV TOY) =X R e 9, sz, 3~=

ZZHT SV,

SOU TR FEE R E A AT S0

NIVT BBEFREZ  Valve part number definition

Vil -0 =0

DNV T ) —X /Valve series
@IN#E#: Y 1 X /Inlet end Connection size
1)inch BI-LOK ##:Inch BI-LOK End

@

@ ® ® ©®

®

2) mm BI-LOK ###5,/Metric BI-LOK End

i%5 Symbol 4 6 8 12 &= Symbol 6M 8M 10M 12M
1 X Size 1/4” 3/8” 1/2” 3/4” #1 X Size 6mm 8mm 10mm 12mm
3)RUiAH. & LiAKBEE. i Pipe Thread or Socket Weld End
&85 Symbol 2 4 6 8 12 16
#4 X Size 1/8B 1/4B 3/8B 1/2B 3/4B 1B
QINfHI #5455/ Inlet Connection end
iC5 Mark % % I iS5 Mark ¥ it I
D BI-LOK RM ISO/R
NM Male NPT RF 1ISO/Re
NF Female NPT PSW Socket weld (Pipe size)

@®OUTHIE#RE Y 1 X/ Outlet end Connection size INl & [i]— D& 13 AW
®OUTl#% %,/ Outlet Connection end Omitted when identical with the Inlet Port.
®FF 1+ =K/ Styleof body S: A b L — MR (fEi#€) © Straight type ./~ A 7 ¥ Z VA “Angle type

MIEREIRE O BN

DA TeEE SN E R, REERICL, o TRAEREZE S THLHEELTT S,
2) AR, 100 EDL v 7=\ Ve bk oz, BB LTT 3w,

_1_




VB * series

—RFIWZAMy TNV T (R LX)

Needle Stop Valves (Inside Screw Type)

ft1 Specifications

&= {EAE 5. Max.Working Pressure:20.5MPa @ 38C

{# R E#EE ,Working Temperature range :
*ZIT—IL21 T Metal Seal Stem
(Valve Series : VBE.VBD.VBN)

V7 hy—Ia247T Soft Seal Stem
(Valve Series : VBS)

: —10~230C

:—10~120C

FRERH : YUICAN—X, ZIFAH—KN—-2
Lubricant Silicon base, Fluorocabon base

g‘ﬁﬁ;g’:{ VBE VBD VBS VBN
2.0mm 0.06 0.06 0.06 0.06
FVT71 X 4.3mm 0.3 0.3 0.3 0.3
Orifice 6.3mm 0.7 0.8 0.8 0.7
9.5mm 1.8 1.8 1.8 1.5
VB * E : Vee Type Stem
N : Needle Type Stem
S  Soft Seal Type Stem
D : Disk Type Stem
8 Materials
No. &4% Part Description Qty 1 Material
1 | KRF— Body 1 | SUS316
2 | AT L Stem 1 | SUS316
2-1\ T4 XY Disk 1 | SUS630
2-2| 714 X% 7L — b Disk Plate 1 | SUS630
2-3| V7 kY= b Soft seat 1 | PCTFE
3 |/Xy X2 Packing ring 1 | SUS316
4 | Xy x> Packing 1 | PTFE
5|77k Gland 1 | SUS316
6 |/NvF¥>F v b Packing nut 1 | SUS316
7 By 7Fv b Lock nut 1 | SUS316
8 | /N>R Handle 1 | Phenol resin
EHREARE FERH (CV) /NI EEH
Bottom Mounting (Option) . [PressurefTemg:ramre Rating) [FlowCoif:igz:il:e'l;z:rlimc‘)pen]
Tk e L I
== | e
15 15 & E : .[
10 Valve Series (Soft Seal) 10 Valve Series (Metal Seal 2 2
VBS VBE
; B LT
D : Connection RF @ Connection  RF : Connection T e e m e o o 20 a0 e 0 w00 e e v ss0 s 2oz revcoeenio
(Angle) (Angle) ° ‘ Eemtom o om —o-eim o vim
~Fi&Z BI-LOK ##%/Dimensions BI-LOK End
Tube O.D Orifice Dimensions mm
PatNo- L _#A__tzemml L [ Lo [ F [ H [ Wi [ W | h [ m|B]oc[a[a]t|w[ER7e0ms
VB*-2D-S 1/8 | 8.18 2 25 | 183 | 13 56 25 | 105 | 10 6.5 | 175 | 11.1 |17.46|14.29| M12 | 38 16 [M3x0.5
VB*-4D-S 1/4 |1 6.35 | 43 | 289|214 |154 | 60 3 105 | 12 6.5 | 17.5|14.29| 19 |17.46| M14 | 38 16 [M3x0.5
VB*-6D-S 3/8 | 953 | 6.3 | 329|254 | 17 71 4 135|145 | 6.5 | 20.6 |17.46|23.81|20.64| M18 | 48 19 [M4x0.7
VB*-8D-S 12 | 127 | 63 | 357|254 | 23 71 4 145|145 | 6.5 | 20.6 |22.23|23.81|20.64| M18 | 48 19 [M4x0.7
VB*-12D-S 3/4 |19.05| 95 | 48.4|38.1 | 246 |87.5 6 195 | 20 6.5 | 31.8 |28.58|31.75|28.58| M24 | 62 25 |M5x0.8
VB*-6MD-S — 6 43 |29.7 | 222 | 154 | 60 3 105 | 12 6.5 | 175 | 14 19 |17.46| M14 | 38 16 [M3x0.5
VB*-8MD-S — 8 43 | 29.7 | 222 |16.3| 60 3 105 | 12 6.5 | 175 | 17 19 |17.46| M14 | 38 16 [M3x0.5
VB*-10MD-S| — 10 6.3 | 332|254 (173 | 71 4 145|145 | 6.5 | 20.6 | 19 |23.81|/20.64| M18 | 48 19 [M4x0.7
VB*-12MD-S| — 12 6.3 | 356|254 |229 | 71 4 145|145 | 6.5 | 20.6 | 22 |23.81|/20.64| M18 | 48 19 [M4x0.7
~HE&R &R T —/Vh U ##:/Dimensions Pipe tapered End
Part No. T | Orifice Dimensions mm
= NeT | RC)fszemml L | H | Hi | M2 | h | h | B |G |a |t | W E%’m””ﬁ“
VB*-2RF-S | VB*-2NF-S 1/8 2 20.6 60 3 13.5 12 6.5 | 20.6 19 |17.46| M14 38 19 |M4x0.7
VB*-4RF-S | VB*-4NF-S 1/4 4.3 27 71 4 145 | 145 | 6.5 | 20.6 [23.81|20.64| M18 48 19 |M4x0.7
VB*-6RF-S | VB*-6NF-S | 3/8 6.3 27 71 4 145 | 145 | 6.5 | 23.8 |23.81|20.64| M18 | 48 19 |M4x0.7
VB*-8RF-S | VB*-8NF-S | 1/2 9.5 | 38.1 | 875 6 195 | 20 6.5 | 31.8 [31.75|28.58| M24 | 62 25 |M5x0.8

F7oa2 &N RbLARY L NRES v 7R EDEE SN BHEICE, REIC “BT” £ TTE L,
Bottom Maunting (Option) : Symbol Mark “BT” example : VBE-4D-S-BT

_2_




VB * series

ZhyTNIvT HRBCR)

Needle Stop Valves (Out Side Screw Type)

ft1% Specifications

&= {#AE S Max.Working Pressure : 20.5MPa@ 38°C

(Valve Series : VBK)

(Valve Series : VBF)

V7 hy—I2147T Soft Seal Stem

{# R ESEE Working Temperature range :

*ZIT =217 Metal Seal Stem : —10~2

:—10~1

30C

20C

FRERH : YUICAN—Z, ZIFAH—KN—-2
Lubricant Silicon base, Fluorocabon base

CvfE Flow Coefficient VBK VBF
2.0mm 0.1 0.1
FVT7 42X 4.3mm 0.3 0.25
Orifice 6.3mm 0.8 0.7
9.5mm 1.7 1.6
VB#LEK : Disk Type Stem
F : Soft Seal Type Stem
#8 Materials
No. &4 Part Description Qty 2 Material
1 | RK7F— Body 1 | SUS316
2 | AT L Stem 1 | SUS316
2-1| T4 XY Disk 1 | SUS630
2-2| 714 XY 7L — b Disk Plate 1 | SUS630
2-3| V7 kY= b Soft seat 1 | PCTFE
3 |/Xy XY Packing ring 2 |SUS316
4 | Xy x> Packing 2 |PTFE
5 |/Xyx> Packing 1 | RF PTFE
6 | Ry b Bonnet 1 | SUS316
7 1By 7Fv b Lock nut 1 | SUS316
8 |Av7Fv b Lock nut 1 | SUS316
9 [N KRIL Handle 1 | Phenol resin
EHREARE
Bottom Mounting (Option) (Pressure — Temperature Rating)
“ \\\vzc “ L
10 Valve Series (Soft Seal) 10 Valve Series (Metal Seal
VBF VBK
D : Connection RF : Connection RF : Connection . o
(Angle) (Angle) O ®m 40 @ 80w 120 Mg O 2040 60 8 IODI0 10160 AN 220 240260
~Fi&Z BI-LOK ##%/Dimensions BI-LOK End
Connect size Orifice Dimensions mm
Part No. A dszerm| L | L | F [ W [ [ ke | o[ [ B | o] e | t | w |[Fr7ENER
VB*-2D-S 1/8 | 3.18 2 289 | 222 | 13 75 35 | 105 | 42 35 | 175 [11.11]14.29| 7/16 | 38 16 |M3x0.5
VB*-4D-S 1/4 | 635 | 43 | 29.7 | 222 | 15.4 75 35 | 105 42 3.5 | 175 [14.29|14.29 | 7/16 38 16 |M3x0.5
VB*-6D-S 3/8 | 953 | 6.3 | 31.3 | 23.8 17 82.5 4 13.5 46 3.5 | 20.6 |17.46|14.29| 7/16 48 19 |M4x0.7
VB*-8D-S 12 | 127 | 6.3 | 35.7 | 254 23 82.5 4 14.5 46 3.5 | 20.6 |22.23|14.29 | 7/16 48 19 |M4x0.7
VB*-12D-S 3/4 |19.05| 9.5 | 48.4 | 38.1 | 24.6 | 99.5 6 19.5 | 54 3.5 | 31.8 |28.58|17.46| 1/2 62 25 |M5x0.8
VB*-6MD-S — 6 43 | 29.7 | 222 | 15.4 75 3.5 | 105 42 35 | 175 14 |14.29| 7116 38 16 |M3x0.5
VB*-8MD-S — 8 43 | 29.7 | 222 | 16.3 75 35 | 105 42 35 | 175 17 11429 | 716 38 16 |M3x0.5
VB*-10MD-S| — 10 6.3 | 332|254 | 173 | 825 4 14.5 46 3.5 | 20.6 19 [14.29| 7/16 48 19 |M4x0.7
VB*-12MD-S| — 12 6.3 | 356 | 254 | 229 | 825 4 14.5 46 3.5 | 20.6 22 |14.29| 7/16 48 19 |M4x0.7
~HE&R R T —/V1h U/ Dimentions Pipe thread End
Part No. Connect it Dimensions mm
Re NPT S(%a sizemm L H | Hi | Ho | h h1 B G t W
VB*-2RF-S | VB*-2NF-S | 1/8 | 4.3 | 245 | 75 | 35 | 14 | 42 | 35 | 20.6 |1429| 7/16 | 38
VB*-4RF-S | VB*-4NF-S 1/4 6.3 27 82.5 4 15 46 3.5 | 20.6 |14.29| 7/16 48
VB*-6RF-S | VB*-6NF-S | 3/8 | 6.3 27 | 825 4 15 46 35 | 23.8 [14.29| 7/16 | 48
VB*-8RF-S | VB*-8NF-S | 1/2 | 9.5 | 38.1 | 99.5 6 20 54 35 | 31.8 [17.46| 1/2 62

AT il& RhLY I MNREERZ Yy TRHEDEEINBZBEICIE.

Bottom Maunting (Option) : Symbol Mark “BT” example : VBK-4D-S-BT

_3_

KEIC “BT” 2T TT &L,




. Z—FIWA MYy TNILT
VN N series Needle Stop Valves

ft1#% Specifications

&= {#FEH Max.Working Pressure : 24.5MPa@ 38°C
{5 B EE 85 Working Temperature range : —10~150C
{ERFAA @3 - K - Air - RIEEH X
#Y Materials
No. 4% Part Description Qty & Material
1 | KF— Body 1 |SUS316
2 | AT L Stem 1 |SUS316
3 [/Ny X212 Packing ring 1 | SUS316
4 | VINy X2 V Packing 1 | PTFE+PFA
5 |/NvyF¥>F v b Packing nut 1 |SUS316
6 |M/Nx Disk Spring 1 | SUS304
71 77>F Gland 1 |SUS316
8 | /N>R Handle 1 |ADC12
9 |Bvy7Fv b Lock nut 1 |SUS316
10 [Ty v — Washer 1 |SUS304

Note : No.9 Lock nut is option.

FE/REARE (NVN)
30 : : : : :

RF : Connection

t 0 30 60 90 120 150 180
T

PSW : Connection

~Fi&3xR BI-LOK ##%/Dimensions BI-LOK End

Connect size | .. Dimensions mm B4y 76054
Part No. FA Oriice Cv
o — sizemm| | L1 B H Hi1 h h1 B C G G1 t w E M
VNN—2D—S 1/8 3.18 2 31.7 | 25 13 71 7 16 |0.5~4| 22 |[11.11]| 24 22 | Migxi| 57 18 [M4x0.7| 0.1
VNN—4D—-S 1/4 6.35 | 3.5 34 | 265|154 | 71 7 16 |0.5~4| 22 [14.29| 24 22 | MigXi| 57 18 |M4x0.7| 0.2
VNN—6D—S 3/8 | 9.53 5 37.5| 30 17 71 7 16 |0.5~4| 22 |17.46| 24 22 | Mi8Xt| 57 18 [M4x0.7| 0.6
VNN—8D—S 1/2 12.7 | 71 | 413 | 31 23 82 8 19 |1~6 | 24 |22.23| 30 27 |M2X15| 70 20 |M4x0.7) 1
VNN—6MD—S — 6 3.5 34 | 265|154 | 71 7 16 |0.5~4| 22 14 24 22 | Migxt| 57 18 [M4x0.7| 0.2
VNN—8MD—S — 8 45 | 355 | 28 | 16.3 | 71 7 16 |0.5~4| 22 17 24 22 | Migx1| 57 18 [M4x0.7| 0.5
VNN—10MD—S| — 10.0 | 63 | 378 | 30 |17.3| 71 7 16 |0.5~4| 22 19 24 22 | MigXxi| 57 18 |M4x0.7| 0.6
VNN—12MD—S| — 120 | 71 | 412 | 31 | 229 | 82 8 19 |1~6| 24 22 30 27 M22X15 70 20 |M4x0.7) 1
SHEFx &R —/Y—1 Ui/ Dimensions Pipe thread End Tk UAAEEER /Dimensions Socket Weld End
b T Oriﬁce\ Dimensions mm E2y7HND5E [ Connect size [ (yfio ‘ Dimensions mm
art No. ) Part No. A |
(Re)jszenm L [ H [H1i| h [ D|hi| B | G|G1 t W | E M i Tmmsemn L [ L2 | D
VNN—4RF—=S|1/4| 5 |29 (82| 8 | 19| 23 |1~6| 24 | 30 | 27 |M22x1.5| 70 | 20 | M4x0.7 VNN-2PSW-S [1/8B| 11 | 5 | 29 | 12 | 23
VNN—6RF—S|3/8 | 6 [32.5/84 | 8 |21 |32 |[1~6| 32 | 30 | 27 |M22x1.5| 70 | 25 | M5x0.8 VNN—4PSW—S (1/4B[14.3| 5 | 29 | 12 | 23
VNN—8RF—S|1/2|7.5|35 |84 | 8 |21 | 32 |1~6| 32 | 30 | 27 |M22x1.5| 70 | 25 | M5x0.8 VNN-6PSW-S |3/8B|17.8| 6 [32.5| 13 | 32
ATyasicdl, K LYYy MAES v THELBL ShBHAICIE, KRB “BT £FHTTEL, VNN8PSW=S [1/2BJ22.2/ 7.5 35 | 13 | 32

Bottom Maunting (Option) : Symbol Mark “BT” example : VNN—4D—S—BT
NFII L NERY 7Fy MIEDEESNBIBEICIE, RKEIC “P” 2 TTFE,
Panel Maunting Lock Nut (Option) : Symbol Mark “P” example : VNN—4D—S—P

_4_



VN series

Z—FIWZR Ny TV T
Needle Stop Valves

{I# Specifications

&= {# FAE 77 Max.Working Pressure : 24.5MPa @ 38°C
{#FA;B EE 85 Working Temperature range : —10~230C
{ERERH : 74 h—RN=-2
Lubricant Fluorocabon base
& Materials
No. &h% Part Description Qty #12 Material
1 | KF— Body 1 | SUS316
2 | A7 L Stem 1 | SUS316
3 | /Ny {2 1) 2% Packing ring 1 |SUS316
PARVE Packing 1 |73y RT7pA8—
5 |/NyFx> Packing 2 |RF PTFE
6 | 7K Gland 1 | SUS316
7 | /Ny *®>F v b Packing nut 1 | SUS304
8 |Avy7+wv bk  Locknut 1 |SUS304
9 |\ KL Handle 1 |ADC12
Note : No.8 Lock nut is option.

RF : Connection

30

ENBERE (VN)

Mlga
170 30 60 90 120 150 180 200 240
—-T
PSW : Connection
Bottom Mounting (Option)
~tik&% BI-LOK % Dimensions BI-LOK End
Connect size . Dimensions mm E5y7 5054
Part No. A erflce Cv
n e Size mm L L1 F H H1 h h1 B C G G1 t W E M
VN-2D-S 1/8 | 3.18 2 31.7| 25 13 82 6 13 8 22 |11.11| 24 24 | M20 | 57 18 [M4x0.7| 0.1
VN-4D-S 1/4 | 6.35 3.5 325| 25 | 154 | 82 6 13 8 22 [(14.29| 24 24 | M20 | 57 18 |M4x0.7| 0.2
VN-6D-S 3/8 | 9.53 5 325| 25 17 82 6 13 8 22 |17.46| 24 24 |M20 | 57 18 |M4x0.7| 0.6
VN-8D-S 1/2 12.7 75 39.3| 29 23 97 8 16 8 24 |22.23| 27 27 |M22| 70 20 [(M4x0.7| 1.0
VN-6MD-S - 6 3.5 325| 25 | 154 | 82 6 13 8 22 14 24 24 | M20 | 57 18 |M4x0.7| 0.2
VN-8MD-S — 8 4.5 325| 25 | 16.3| 82 6 13 8 22 17 24 24 | M20 | 57 18 [M4x0.7| 0.5
VN-10MD-S — 10 6.3 328 | 25 |17.3| 82 6 13 8 22 19 24 24 | M20 | 57 18 |M4x0.7| 0.6
VN-12MD-S — 12 75 39.2| 29 |229| 97 8 16 8 24 22 27 27 |M22| 70 20 |M4x0.7] 1.0

ThE UAKEIEES /Dimensions Socket Weld End

~HEiE Bl 7 —/VY—1 U E#/Dimensions Pipe thread End

Orifice Dimensions mm E4y7 80545 Connect size | (yiice | Dimensions mm

Part No.|T (R X Part No. A .
artNo. TR e mm [ L TH [ [ h [ | B | DG G|t W E]|M BN Tamsem L [ L2 | D
VN-4RF-S| 1/4 5 29 | 97 8 16 8 24 | 23 | 27 | 27 |[M22| 70 | 20 |M4x0.7| [VN-2PSW-S|1/8B| 11 5 129 | 12 | 23
VN-6RF-S| 3/8 6 32.5| 99 8 18 8 32 | 32 | 27 | 27 |[M22| 70 | 25 |M5x0.8||VN-4PSW-S|1/4B|14.3| 5 29 | 12 | 28
VN-8RF-S| 1/2 71 35 | 99 8 18 8 32 | 32 | 27 | 27 |[M22| 70 | 25 |M5x0.8| |VN-6PSW-S|3/8B|17.8| 6 |32.5| 13 | 32
FTVaLcdl, KLY MAES Y THEBEL ShBHEICE, KRIC “BT £ TTaL, (WNBPSWS|1/2B[222]71 | 35 | 18 | 32

Bottom Maunting (Option) : Symbol Mark “BT” example : VN-4D-S-BT

Nxvwgr NEAY 7y MIERBEE SN BHEICIE. REIC “P” £ TTEL,
Panel Maunting Lock Nut (Option) : Symbol Mark “P” example : VN-4D-S-P

_5_




VBM series

WEREFHER

Fine Metering Valves

sFi&xR BI-LOK ##5%./Dimensions BI-LOK End

D : Connection
(Angle)

ft1#% Specifications

&= {#HE 77Max.Working Pressure:6.9Mpa @ 38°C

& ;B EE 85 Working Temperature range : —30~120C

EAEER > U A—X, ZIFAH—FKN—X
Lubricant Silicon base, Fluorocabon base

Cvfi& (Orifice) :0.03 (1.5mm), 0.18 (3.2mm)

& Materials

No. &% Part Description Qty & Material

1 | RF— Body 1 |SUS316

2 | AT L Stem 1 |SUS316

3 |[oU>7 O-ring 1 |FKM

4 | AT LHAKR Stem guide 1 | RF PTFE

5 Ry b Bonnet 1 | SUS316

6 |Bv7Fv b Lock nut 1 |SUS316

7 |ty bXT1) 17 Setscrew 1 | SCM435

8 | /N>R Handle 1 | SUS304

9 |ty FXZ U 17 Setscrew 1 |SCM435

2 #hig (FineMateringType]) VBM (3.2mm)
10
9 =
@ 8
£
27
R 6 I
s /
o s ,\/‘)}/
24
3 "
<3
2
1 /
. QM/—O/T
Cvi& 0 0.05 0.1 0.15 0.2 0.25
RS

NV HTRICEHFE SN THEY T8 A,

2 #hig (FineMateringType) VBM (1.5mm)

10 2%
9 Zad
/;E; 8 /—E—LSmm}
27
& 6
1K
| 5
24
b vl
2 2%
1

Ve

CvfEo0 0005 001 0015 002 0.025 003 0035

Connect size

Dimensions mm

Orifice
Part No. :
artNo = ‘”‘mm szemm| L | L+ | F | H | Hi | h | bt | ke | B | C | G | t
VBM—4D-3-A | 1/4 | 635 | 15 | 283 | 208 | 154 | 91 | 5 | 251 | 35 | 325 | 14 |1429|17.46| 7/16
VBM™—4D-5-A | 1/4 | 635 | 32 | 2905 | 22 | 154 | 91 | 5 | 251 | 35 | 325 | 14 |14.29|17.46| 7/16




VE series

Z—FIWZR Ny TNIVT
Needle Stop Valves

RF : Connection
(Angle)

4 Specifications

&= {#FAE IMax. Working Pressure : 6.9MPa @ 38C
{5 F ;B 45 Working Temperature range : —10~100C
EREES : JA0h—KRN—2Z
Lubricant Fluorocabon base
& Materials
&u% Part Description Qty[ #& Material

1 |KF— Body 1 | SUS316

2 | AT LA Stem 1 | SUS630

3 [/Xy X212 Packing ring 1 | SUS316

4 [/1xyF> Packing 1 |PTFE

5 [/XyF> Packing 1 |PTFE

6 |72 F Gland 1 | SUS316

7 |[/NyF>F v b Packing nut 1 | SUS304

8 |\ FKIL Handle 1 |ADC12

9 |Avy7Fv b Lock nut 1 | SUS304
Note : No. 9 Lock nut is option
TEE BRF—/S—hUER
/'Dimensions Pipe thread End

T |Orifice L

Part No. size H | H1| D t | W|Cv

(Re)| mm |$517|A447

VE-2RF-S|1/8 | 4 |48 | 24 | 61 | 6 | 22 M16| 47 | 0.4
VE-4RF-S| 1/4| 5 | 48 | 24 | 61 | 6 | 22 |M16| 47 | 0.7
VE-6RF-S|3/8 | 5 | 54 | 27 | 61 | 6 | 22 |M16| 47 | 0.8
VE-8RF-S| 1/2 | 7 | 65 325/ 72 | 8 | 30 M18| 57 | 1.2

VE-8RF-S| 3/4 | 9.6 | 76 | 34 [100.5| 10 | 42 |M28| 70 | 1.4

FTa lCEynNFNTy L NBOY 7 Fy MiERBER
h3GEICIE. KEIC “P” 2T T &L,

Panel Mounting Lock Nut (option) : Symbol Mark “P”
example : VE-4RF-S-P

VET series

Z—=FIWZAbyTNIT
Needle Stop Valves

f+# Specifications

&= 1#FE 7IMax. Working Pressure : 1MPa @ 38°C

{# FB &5 Working Temperature range : —10~100C

fEFRARAE & - K - Air - TIEEH X

& Materials

No. #n% Part Description Qty| #% Material

1 [R5 — Body 1 | SCS13A

2 | AT L Stem 1 | SUS304

3 |T1RY Disk 1 | SUS304

4 | Kxy b Bonnet 1 |SCS13A

5 | ARy b Gasket 1 | PTFE

6 |Tyvov— Washer 1 | SUS304

7 | 75> R/Xy*x> Gland Packing | 1 |PTFE

8 |Y7F Gland 1 | SUS304

9 | /Ny F>F v b Packing nut 1 | SUS13A

10 [N RIb Handle 1 |ADC12
&R BT /-1 U/ Dimensions Pipe thread End

Orifice
Part No. size | L H | H1 | h ht | W | Cv
mm

VET—4RF—S| 10 | 44 | 67 |23 | 19 | 19 | 57 |0.77

VET—6RF—S| 10 | 45 | 68 | 2.7 | 20 | 22 | 57 |0.99

MREMRI ST

CviE (MAX) R%
15 1/4+++0.77
) 3/8---0.99 Hc1/4/
P
o s
]
i =
05
0_/

0.8 1

0 0.2 0.4 0.6
cvia




VQ series

Z—KIWR by TNILT

Stop Valves

ft1#% Specifications

&= {#AEH Max.Working Pressure : 2.9 MPa @ 38C
{5 FB EE 5. Working Temperature range : —10~100C
Cv{# (Orifice) : 0.4
FEREER YU A—Z, ZFAH—RKIN—ZX
Lubricant : Silicon base, Fluorocabon base
#E Materials
No. &% Part Description Qty & Material
1 | RF— Body 1 |SUS316
2 | AT L Stem 1 | SUS630
3 [/NyFx2)2F  Packing ring 2 | SUS316
4 |\VIsy x> V Packing 1 |PTFE
5 Ry b Bonnet 1 | SUS316
6 Ay 7Fvy b Lock nut 1 |SUS316
7 |IN2 R Handle 1 | A2024
8 |/¥xJ)vAy 7+ hPanel Lock Nut| 1 |SUS304
D : Connection RF : Connection RF : Connection
(Angle) (Angle)
~ti%% BI-LOK #%#t./Dimensions BI-LOK End
Part No. Tube O.D Orifice Dimensions mm
Straight in mm [sizemm| L L1 F H H1 h h1 B (0} G t w
VQ-4D-S 1/4 6.35 3.5 29.8 22.3 15.4 59 3 — — 17 14.24 — — 36
VQ-6D-S 3/8 9.53 4.3 315 24 17 59 3 — — 17 17.46 — — 36
VQ-4D-S-P 1/4 6.35 3.5 33.5 26 15.4 59 3 14 6.5 22 14.29 22 M18 36
VQ-6D-S-P 3/8 9.53 4.3 33.5 26 17 59 3 14 6.5 22 17.46 22 M18 36
¥, NI MEOY 7Fy MIDBEICIE. NV TOERES Oy I F Y b FUDBEEREVET,
~H&zk B H 7 —/Y—1 Uit/ Dimensions Pipe thread End
Part No. Part No. T | Orifice Dimensions mm
Straight Angle (RC) |sizemm| L H H1 h h1 B G t W
VQ-4RF-S 1/4 4.3 24 59 3 — — 17 — — 36
VQ-4RF-S-P 1/4 4.3 26 59 3 14 6.5 22 22 18M 36
VQ-4RF-A 1/4 4.3 23,5 | 53.3 3 — — 17 — — 36
VQ-4RF-A-P 1/4 4.3 26 59 3 14 6.5 22 22 18M 36

FToas iy FEAY 7y MIEDBEESNBZHEICE. REIC ¢
Panel Mounting Lock Nut (option) : Symbol Mark “P”
example : VQ-6D-S-P

_8_

P” ZfFlF T T,




VC

ERAXZU17R 2y MEX MY TNILT
Screw Bonnet type Stop Valves for Low

ft1#% Specifications

&= {# FAIE /7Max.Working Pressure : 10.3 Mpa @ 38C
{5 FiB E 85 Working Temperature range : —196~120C
{ERMEBE : ZFEE) T FoN—2X
Lubricant MoS:2 base
& Materials
No. &h% Part Description Qty 12 Material
1 | KF— Body 1 |SUS316
2 | T1RY Disk 1 |SUS316
3 | AT L Stem 1 |SUS316
4 K>y b Bonnet 1 | SUS316
5 | HXTy b Gasket 1 |SUS316
6 |/NyFx2 ) Packing ring 1 | SUS316
7 18y 7Fy bk Lock nut 1 | SUS304
8 | /Ny X Packing 3 | Cabon Fiber
9 | /Ny F Packing 3 | Graphoil
10772 F Gland 1 |SUS316
11 | /Xy % 2F v b Packing nut 1 |SUS304
12 | N> Kb Handle 1 |ADC12
PSW : Connection
RF : Connection
(Angle)
<Ak &R 7 —/V—1 Ui,/ Dimensions Pipe thread End
T | Orifice L L1 H h
Part No- | (Re) |size mml §517 | AG17 | As(7 8377 |A517| | [sai7lAzr7| ™ | P | & | t | W |CVi
VC-2RF-S 1/8 5 25 26 24 169 157 5 90 79 10 20 30 M24 70 0.3
VC-4RF-S 1/4 5 28 31 28 169 157 5 90 79 10 22 30 M24 70 0.5
VC-6RF-S 3/8 6 30 33 30 169 157 5 90 79 10 25 30 M24 70 0.9
VC-8RF-S 1/2 71 35 38 35 169 157 5 90 79 10 32 30 M24 70 1.2
~HEF SUA A iREE#RE/Dimensions Socket weld End
Part No. A Orifice | le | H | H h hi D G t W | cvia
in mm  |size mm
VC-4PSW-S 1/4B 14.3 5 28 12 169 5 90 10 24 30 M24 70 0.5
VC-6PSW-S 3/8B | 17.8 6 30 13 169 5 90 10 26 30 M24 70 0.9
VC-8PSW-S 1/2B | 22.2 71 35 13 169 5 90 10 32 30 M24 70 1.2




Union Bonnet Needle Stop Valves for High temperature service

ft1#% Specifications

&= {# FE 77 Max.Working Pressure : 24.5Mpa @20C
{E AR E#EE Working Temperature range : —10~400C
EREAR : ZHIEEY 77N =X

Lubricant MoS: base

& Materials

No. &% Part Description Qty & Material
1 | RKF— Body 1 |SUS316
2 | F4RY Disk 1 |SUS316
3 | AT L4 Stem 1 | SUS630
A RPAVE Packing 2 | Graphite
5 | /Ny X2 Packing 2 | Graphite
6 |1=F>F v b Unionnut 1 |SUS316
7 | RKexy b Bonnet 1 | SUS316
8 | 772K Gland 1 |SUS316
9 | AT LHAKR Stem guide 1 |SUS304
108y 7Fy b Lock nut 1 | SUS304
IRE SR Cap 1 |SUS304
12 [N KL Handle 1 |ADC12
18 |Fv b Nut 1 | SUS304

[EFRERRE (VH)
30

'
-c0 50 100 150 200 250 300 350 400 450

PSW : Connection RF : Connection
~}i&% BI-LOK #%#5t./Dimensions BI-LOK End
b ifi KXy 7 HNDBE
Part No. 0D | Gz ) Li F H Hio | He B © w (B2 58| cvi
in mm |size mm E M
VH-4D-S 1/4 6.35 3.5 40.5 33 154 135 8 16 32 14.29 70 28 M6x1 0.2
VH-6D-S 3/8 9.53 5.5 40.5 33 17 135 8 16 32 17.46 70 28 Mé6x1 0.5
VH-8D-S 1/2 12.7 7.5 43.3 33 23 135 8 16 32 22.23 70 28 M6x1 0.9
VH-6MD-S 6 6 3.5 40.5 33 15.4 135 8 16 32 14 70 28 M6x1 0.2
VH-8MD-S 8 8 4.5 40.5 33 16.3 135 8 16 32 17 70 28 M6x1 0.3
VH-10MD-S 10 10 55 40.8 33 17.3 135 8 16 32 19 70 28 M6x1 0.5
VH-12MD-S 12 12 71 43.2 33 229 135 8 16 32 22 70 28 Mé6x1 0.9
STER BAT—/N—hUER. & LAABEERDimensions Pipe thread End, Socket weld End
Screwed Part Socket weld A T Orifice
No. Part No. in mm (Rc) |[size mm L L2 H Hi He B D w cvig

VH-4RF-S VH-4PSW-S 1/4B 14.3 1/4 5 29 12 135 8 17 32 23 70 0.6
VH-6RF-S VH-6PSW-S 3/8B 17.8 3/8 6 325 13 135 8 18 32 32 70 0.8
VH-48RF-S VH-8PSW-S 1/2B 22.2 1/2 71 35 13 135 8 18 32 32 70 0.9




